1st November

Higher 5-a-day

Find x
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7A results Shown are class 7A's and 7B'’s test
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2nd November Higher 5-a-day
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Write down the ratio of x :

T

ton

1 Z
11

A (3
(6 35 40

Expand and simplify

> = B
(9L+ J9+4) y, +§’y 7"4(7 —le*/(y 17
(y-3)y+ 1)y +4)
g & .
y’b £ -y - I&
\ 7
A wooden flagpole is 25 foot tall.
In a storm, the flagpole is broken and § (3
its top touches the ground 5 foot from
the base. — :
I
Find the lengths of the segments of
the flagpole. I i £ | %
Simplify 4/220
Vg x Jes
Simplify
/l a,qbd ‘ Z/ AL}
2a*  6w? — i
X (S aw z W/

3w3  5a




3rd November Higher 5-a-day

Callum is making cylindrical candles.
Calculate the volume of the candle.

R T
= ?gg‘b.ngng

25cm

Callum places 16 of the candles in a box
of height 30cm. ¢y, nle At s 35om
Here is a plan view of the box.

\lafvw a; éCX
<o X 4o x50

c 141000 cm>

Calculate the percentage of the box that | /, L
is not filled by the candles. : if (;Zila; $53.93
S )QZOCU“}OCCW '00 ~ (7 ,~ 3 7 .-
T 191000 i *134.55%) = govoor
Find x and y
5x-55 80 +2 Jg «4] = |40
(70 + 4 2 (o
O ; o
7 slg* & He#gy’
Factorise
2x% —Tx — 15
(1% ¢ ”9) (2 ‘U
Mrs Jenkins is making decorations for a .
wedding. (85 l61c

She needs 18\/3 metres of ribbon in
total.

Mrs Jenkins has 40 metres of ribbon.
Does she have enough ribbon?

¢o e \)/600




4th November Higher 5-a-day

Using a ruler and compasses, construct the perpendicular from the line GH
to the point 1.

N .
G = H
4 Shown is the graph y = 3x2 — 10x — 25

; 5
) ( '—Tb 2 0] Find the coordinates D, E and F
. ad o3 =102 - 25

\/ E(Sza) 0=(t-5)(32+5)
F[Oj—ﬁs') 225 o A:-%

F

Y‘/'a“i ‘ peonk i Completethetable. 5o x .26
Small i '
Height Capacity
. ' Small 24 inches 100 litres
Medium | 30inches |i95~. 3/2¢ Lﬁeg
240 < jgo =14 Large | 32" 1527 /4 240 litres
Vv = 1339
Simplify [ ng. x 14 = 31,131}

ox% — 1 [,1\ () (3141) e

2. o e
3x2—13x+ 4 01\”)[1_&}

a-¢




5th November

Higher 5-a-day

et

49°
X

8c

Find x

v

e
b g ° [ G&iDem

Solve
4x*+8x+3=0

Ll’rl )(“ ”)

Hiel§ o e ]

The side length of a square table is
105 cm, correct to the nearest
centimetre.

Find the smallest possible perimeter of
the table.

(P= 104-Gem o
[04-5 ¢
Simplify l’/ﬁﬁ
4x—8xx2+x—6 L,L/l 7—) ¥ [”3)/ <)
0—-x2  x2-2x ) fap (/%)
C,L[Z'L] (3 )[ /17 /
2 (3-1)
. 4‘,»/1,1: g Calculate the volume of this cone.
..‘»....,.‘_._18cm [Ei) 7= Y V- %x Ty * J;:u/
................... \ Aver | 2 29405,
8cm Xzﬁ;7




6th November

Higher 5-a-day

The table below shows the time taken is
read an article.

g Time (t seconds) | Frequency

. 0<t<20 1 :
T 20<1<40 7 g
| 40<t<60 15 13
. 60<t<80 5 | 19
. 80<t<100 2 | 30

Draw a cumulative frequency graph.

| BEHsEsies RN e
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0 20 40 60 80 100
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~-10

Shown is Line 1 and also the point A (0, 4)

Find the equation of Line 1

y‘:lf«l

Write down the equation of the line
parallel to Line 1 and that passes through
the point A

A

Make m the subject of

y—-mp=np+2y
B
-7"/?‘/: /”{’ﬂ




7th November Higher 5-a-day

The length of a line is 24cm, correct
to the nearest centimetre.

Write down the error interval for the
length of the line.

Giventhat x:y=3:5
and x +y = 280

Find the value of x — y

¢

®
- |
el

=

1L
®
L
c
o
b~ |
(9]

0<lc4 36 ¢
4<]¢<b 40 10
6<1¢8 48 4y
8\!;'32 455&7 1]
12 <1< 20 22 ¢

Draw a histogram for this data.

There are 9 sweets in a bag
6 are green and 3 are red.

Two sweets are taken out of the bag, at
random, without replacement.

Find the probability that the two sweets
are the same flavour.

| S




8th November

Higher 5-a-day

)
Shape A is translated by vector (“1 to
make Shape B.

__5>
Shape B is translated by vector (—2 to
make Shape C.

Describe the single transformation that
maps Shape C to Shape A

=y N ""L; —5 -
ik '(-3) Cﬁ>(3)

[;/zms/w&?m [ (/ (’bl)

Work out the value of

=

60
A B
U

2
12573 3\)@/3;,’ 19
57 &9
0 Find AC.
1 = 2 Fhigg
By © e

A
18cm
e\
o B

Find the area of the sector.

qu 1
= T K 18
3bo
1
290« b an

Write down the equation of a line
perpendicularto y =5x +3

3:_%r+§




9th November

Higher 5-a-day

e
i 4G 1
Aigi - ({«()O
A B Af: o

BC is 16cm.
AC is 12cm.

Find the area of the circle.
M xlo

G - ([, m"

A region R satisfies the inequalities
Xy £
X o2
yE3

Show this region on the grid.

Harper rolls an ordinary 6 sided dice
three times.

What is the probability she gets
exactly one 6? N b

— Ve e
o p) 15
° é b
14 2
/ X 3 = D‘:ﬁ_
216 s
2

A helicopter leaves Bristol and flies due
east for 10 miles. Then the helicopter
flies 8 miles north before landing.

Calculate the bearing of the helicopter
from Bristol.




10th November

Higher 5-a-day

Solve the simultaneous equations

Tx—15y =25 x1
3x—2y=55 XI5

Wi ~%0y = Q1§
LT 503 z §
—3 7
B = 35 g
Simplify fully
W/
x4+ 8x i( ) =

X2+ 10x + 16 (x/z] (1)

60 80 100 120

A greengrocer sells bananas and apples.
In one day he sells

up to 80 bananas

up to 90 apples

no more than a total of 110 pieces of fruit
Let x be the number of bananas sold

Let y be the number of apples sold.

Show the region below that satisfies these
inequalities

Given that
a.b=5:2 and b:c=9:11
Findtheratio a:c

Give your answer in its simplest form.

[L:l"C
S:1
6-? Q;)leL
D& s+ L




11th November

Higher 5-a-day

Enlarge the triangle with scale
factor 3 using centre of

enlargement (3, 1)

<10l L2 3 4TS

4
6x — 3 EENE B
4 éx{_g’) —} | ST | (NS S TR L
Ty (TS A, B R i o
Find f(=5) —
W s
7 (-85
Simplify * 4
i 4 X #
X I g A 2 z
LA AT =
3yz 6z &/’
Mia is creating an 6 digit password. How many possible different possible
codes could Mia create? #
The first two digits are a multiple of 35. T VUL S o
The second two digits are an odd 45 Ly) \ | 2% 5Y 1z
number between 10 and 90. / { it 3
The second last digit is th 1 '
ast digit is one more than d X 40 x 4

the last digit.

= 730

=]

Shown is a regular hexagon.

Write down the vector CE

kb




12th November

Higher 5-a-day

The bearing of A from B is 245°

Find the bearing of B froprp A.

4 pe
5 O é 9
)cs‘ %
A ws
The sum of the interior angles in a " = /477 7/
polygon is 14220° (n-+) < 180 = (42720
Calculate the number of sides the n-1-7 Z‘f
polygon has.
71>9I
Solve the simultaneous equations
4;@-[1-1) z |F
w=y=17 7 o ol TRRTY B
y=x-2 21 = 1§ _
X =5 7 S
B The area of the sector is 50cm?2
39 - Find x.
— X ! = ()
Sbe 2t 4l 11t
39° F202-0 2 em
A 5 o)
Show (272 4+ 9)* — (21 + 5)? is always a
multiple of 4 for all positive integer values / lr + ;7/ g

of n.

[.ZN“}’q][Zd -I-q)‘«'
Gu® +3l +81
(1&4—5’){7«/14'5') .

Got tloa 425

W+ 14)
riltole o b




13th November

Higher 5-a-day

Work out 993

[ =3
7

Which of these points is not 10 units from
the point (0, 1)?

(10, 1) (6, 9) (11
(0, -9) (-8,7) (=10, 1)
| Use the information in the histogram to
— NE= complete the frequency table.
density "'_‘;’
-1 Mass (grams) Frequency ‘
o 200 < m < 250 50 |
0-6| 250 <m < 300 Q0
byl 300 <m <400 (o
& EEas 400 < m < 500 F2
200 - 300 400 500 600 700 500 <m < 700 16
Mass (grams)

A restaurant menu has 6 starters, 9 mains
and 7 desserts.
A customer can choose:

- a starter and a main
- a main and a dessert
- a starter, a main and a dessert

How many different ways of choosing a
meal are there?

(xq=64%

xt = 63

6XAx2 = 3 #+F B
[r(ﬁ"v




14th November

Higher 5-a-day

A recipe for a drink says

“mix 2 parts orange juice with 7 parts
lemonade.” 9\ . 7

What is the maximum amount of the drink
that she can make?

EOGM, /m«r e

Victoria has 100ml of orange juice and IS5 Fal Omj@ )‘Vf’
300ml of lemonade. P

3‘(" ‘ 7“/’/“/

Findx g E
p= 7504
Xz (50 . ¢°

Find the coordinates where the line P L=
y=8x—15andth<.ecurvey=x2 ol or s 2
meet. s 9 7

7L1 < 31}' =[5
25 - §L +15 0

(1 -5)(x -3)=¢

Write 1008 as a product of prime
factors.

Express your answer in index form.

;zvi',(Biﬂ’/z’

Hence find the lowest whole positive

number by which 1008 would need to be

multiplied by to give a square number.
ol

7

p—

—




15th November

Higher 5-a-day

On a plane, the ratio of passengers
travelling economy to business to 7:5.
The ratio of passengers travelling
business to first class is 4:3.

Jack says more than half the
passengers are travelling ecomony. Is
he correct?

£: 4 74 )
7 =5 = G4 -4...%
(WMo [
Find x
90 —3v-F0 > 30
Simplify fully
x?—4x - 12 (;L/é}(l”) xtt
x2—x =30 Crrs ) (1/4) i+
Simplify

V6 x1/27 x1/2
J 54

()
<Q

A shop sells two different sizes of rugby
ball.

A small rugby ball has a length of 8cm.
and surface area of 90 cm? J i
A large rugby ball has a length of 16cm.
Calculate the surface area of a large
rugby ball.

40 « 2™ 2 Bloewm”




16th November

Higher 5-a-day

simplify 1/60
Ve x 58

aJis

B

15¢cm

- 1
y 2l U ALY e
2%: 24 yr s LéI
t: Jus y* Ja

Find the area of shape BDEF
(’o hl'Z el < 6;() + il {goh"‘

() = % xuxjr = bben'
G)dpabpis s Ba’
150 ~bd- 45 =Pt

Find the perimeter of shape BDEF

G0 - bsem

f%}*ﬁé?okﬁi

Jobi plays 3 games of chess.

3

The probability that he wins game 1 is Y
- 2
The probability that he loses game 2 is 3

7
The probability that he wins game 3 is —

What is the probability that Jobi wins all
3 games?
3

N
A

X

. i

2
7

Ui

\‘ ey
3
Q

Solve 4x*+4x—-3=0
(o) 15+3)+ 0

7 -

3
=




17th November

Higher 5-a-day

A A
5 x' Write down the value of cos x
el Give your answer as fraction.
Sem o _/i 3
O H -
4cm O g’
Simplify
D1y
3« X Y "
w 4 w 405"
Find the area of the parallelogram. Arte o ()
E—— o
7cm " Lk F RS X G S0
500 Q] s - 246-81]. . enm
\ N
a4 'L
10cm S % -t L g

Complete the table of value for
4

e
X

Q| i
~
?‘) .
[
U\
Q
L (@]

‘/\I

On the grid, draw the graph of

4

}’=;

for 0.5<x<10

3
10 |
0
b
8 X
7
6 |
{
5 B
s bk
\
3 X\
2 \<\~‘$‘<
9 R
0 - >
01 2 3 45 6 7 8 9 10X




18th November

Higher 5-a-day

—4

Shape A is translated by vector ( 9
make Shape B.

)i

)
Shape B is translated by vector <0 to
make Shape C.

Describe the single transformation that
maps Shape A to Shape C

[ g ) . %fmj/a%ﬂ.& (// /g)

Find x and y

Simplify fully
25x2 - 9 (52 -3)(543) 5y -3
= - - e
5x2—-17x - 12 (gyf ) 2~4) A~
Write 1.25 as a fraction.
= /~47»5’7\§‘i')’\_ % _ll/q-
oo = (252545 . 44
292 =124

Martin invests £500 into a savings
account that pays X% compound
interest per annum.

After 5 years, he has £750 in the
account.

Find X 744t <

S‘oo‘xyl] = 7#50

5\77:/ = [‘03’(‘4?




19th November

Higher 5-a-day

Work out

_ !
1 .3 .2 %’L?‘?T%
2—+1— +5— ;
2 4 3 241,32
Tt
]
Yok

2 ST |
69 63 £3
55
£9

A coin is flipped three times.

What is the probability of getting three
tails?

! {
2 B B

e
! =%

5

Sahil says 12m/s is faster than 40km/h

Is Sahil right? Yy Yes
bovo o m/,{
(é¢ Z M/mf'\/

l'/‘;’m/);

On Monday, 75 customers ordered a
coffee in a restaurant.

Max surveyed 20 customers at random
on Monday and 3 had a coffee.

2. o 7
) %7 (sTo3:500

ZoxFs = 1500

Work out an estimate for the total
number of customers that the restaurant
had on Monday.

z.0
Simplify /80 —4/45
JU X0& -
uds - 35
& J=




20th November

Higher 5-a-day

Graph A Graph B
Match each graph to the correct
\/ equation
V= xz is graph A
y= x3 is graph D
Graph C g
L y= 2% is graph ........
j y= Al is graph (
Find x
. : x 2%
/] (x-3)yem |y fx-3)(aes)> 3T
(1-3)(2* £) =

(x +5) cm

The area of the triangle is 32.5cm?

v+ -1 T b8
11+2’1,~‘¢70 Y

(L t10)[x-9) 0 z:=§

Simplify fully

4

12x + 16 4;[3/____1 5

2 : A
3+ 100 +8 (344 (D) 2.

X+
Solve, giving your answers to one <2t J1
decimal place. £ d: 2
3] . [.; i = .

EYER=ASE e X=/).2 o X5-31

2_

-2t e-()

Z




21st November

Higher 5-a-day

The population of a country is
4.8 x 10°

The population of a city is 8 X 10°

What percentage of the population of
the country live in that city?

A

Given f(a) = 55 find the possible
values of a.

T b F 256
- 1 [/Vq

e =

T

a_ b

e Y

[
a=-4

o

The cumulative frequency graph
shows the heights of 400 trees.

4004

Cumulative

IS
ey
N -
1N
(o]

Find an estimate of the median height.

[ m

Find an estimate for what percentage of
the trees had a height greater than 10m.

75 7o

Write down the Sine Rule

/3 i C
e e .= = /"*’-
SinA sialfl sl

Write down the Cosine Rule

[/;1.> Z‘L")'l 1-—7;1,:0 (ﬂsl4




22nd November

Higher 5-a-day

y is directly proportional to the square

of x. . 4
Wheny =32, x = 4. g ol
Find the value of y when x = 8.

:j': (C 7Ll
o2 kxyt fea

=
d
~
<
SN
1)

L4

ABCDEF and GHIJKL are regular
hexagons with centre O.

GHIJKL is an enlargement of ABCDEF,
with scale factor 2.

Write down a vector for AB

-+ b

Write down a vector for ! C

Factorise fully 9y? — 144

Gy -mlyd) | T 96 e)
| ij)/jw)
7(?“ Lf)(j + l@)

»%(TT X ’Z) L90U = %oof
L(m x10)x 50> 50T

bx g0 =1we
x4 >10°
de (7 x (0™ -mxyt) > 317

4go T B/él; T

2 314 .34

L 4al7 X of « T eyt) > Fw




23rd November

Higher 5-a-day

& = 80 students
C = students that have visited Canada
S = students that have visited Sweden

50 students have visited only Canada or
only Sweden

3 15

10 of these 50 students have only
visited Sweden

The number of students who have visited
Canada is double the number of students
that have visited Sweden

Complete the Venn Diagram

The nth term of sequence Ais

90 -5n _
o 40 79 Fo __.

The nth term of sequence B is
n’+5n+1
47

—

/5

V \/

(SR ST I & A (1
Vv

How many numbers are in both sequence
A and sequence B?

A
J

09 ..

N

Write down the equation of the line
shown.

y = 4L+l

A line is perpendicular to the line shown
and passes through (0, 10).

Find its equation.

N
y~ e




24th November

Higher 5-a-day

A group of workers are painting the 10 XiL= {10
classrooms in a school. 10 workers could
paint all the classrooms in 12 days.

For the first five days, only two workers
paint the classrooms. $x1 = |0

For the next six days, only five workers

paint the classrooms.  6x4 = 3¢

For the rest of the days, all 10 workers paint
the classrooms.

wor ke ﬂaj.ﬁ

Work out the total number of days taken
to paint the classrooms.

ILO - 4o = 4o
fo-10= ¢

SH+b+q = 19 ll‘tﬁ«"

Work out (-

Find x and y
L=F
igo - 36 =

yo e

¢

Orla put £400 in a savings account for 5
years.

She was paid 2% compound interest per
annum for the first 4 years.

She was paid x% compound interest for
the final year. q 7

Altogether Orla earned £75 in interest.
Find x to 1 decimal place.

bow X 1- T4 = £431.97.

>

70cm

110°

4329%... xy:‘f?(
y=1-09F.-
Find y. .ﬁ— Zo
}1A1'; -éﬁu




25th November

Higher 5-a-day

Work out -
v =
5
0 17 - 117
Simplify
2 iCav) )
x4+ 11x | /
2-121  (a-n)O+) 21l
D 75 Find the size of angle ADB
91
EE:/’ - « =7
15cm I IE o A FIE
4500 é’ﬂ: [12?(56 ™~
M AL
A /5
BC=9.2cm AD=15cm ¢
Angle BEC = 50° ~ 3¢-4 34

E is a point on BD such that BE:ED = 3:2

y

y is inversely proportional to x.

Sketch this graph.




26th November

Higher 5-a-day

Work out

(%)

Y-
w\N

Write down the formula to work out
frequency density

: ﬁw{u@&j
oy (L"J s
ﬂb{bﬂ c(ws wi”L

Write down the equation of the line that
is perpendicular to x + 2y = 4 and
passes through the point (0, 5)

19 2 —~ L +U
‘7 (
y‘.‘sf.b;(.{'.b

yz QL +5

Factorise

3y? 4+ 16y + 16

[33 +¢)(J H—J

Duncan bought a toy that grows when
placed in water.
Before placing the toy in water it was

4cm tall. - x5
After placing the toy I teritgrewto a
similarly shaped toy that was 10cm tall.

Is the claim reasonable?
n a/erabﬁ}vrﬁl’z

PP Grows 10 times
j@{\ larger

e
@

-

2

256" & [ELEE

Lol B 157425 /’”j”




27th November

Higher 5-a-day

58.9 x 10°
¢4400
6000

fifty thousand 5‘00‘; v

5.98 x 10*

79§00

Which of these has the greatest value?

5.4% X

A full swimming pool is 12m in width and
25m in length.

The width is to the nearest metre.
The length is to the nearest metre.

Find the minimum surface area of the
water.

(5% 245 = 2817 m’

_3)
Shape A is translated by vector ( 1 /to
make Shape B.

S )
Shape B is translated by vector (—2 to
make Shape C.

Describe the single transformation that
maps Shape C to Shape A

/4'; :(‘:3) 671(?)

fmf\s/m/r %/ (?)

y = 2% is graph i
y = x3 isgraph _3_

y =—x3 isgraph |

Write down the value of 100°

Graph 1 Graph 2

A
O\_X ol x




28th November

Higher 5-a-day

Find the size of angle ADB.

St°

A rectangular field has:
114
length 120m, to the nearest 10m.
width 86m, to the nearest metre.
465
Calculate the upper bound for the
perimeter of the field.

25 + 115+ 8b -5 + 865

e

Darius has a biased 6 sided dice.
The probability of a 6 is 0.8 and the
other five numbers have an equal
probability.

Darius rolls the dice three times.

What is the probability that Darius rolls
three sixes?

£ 0514

A ball is dropped from h metres.
After each bounce the ball reaches 80%
of its previous height.

/ g ek T = B

After its third bounce it reaches a height 3,072 ~d°8 s é Mo
of 3.072m.
Find h
Given that @ b Z
a:b=9:4 and b:c=7:3 g U
z 3 £3 )1
Findtheratio a:c p ?
G 4 ]
= ol Y

Give your answer in its simplest form.




29th November

Higher 5-a-day

Factorise

2x —y)* = 5(2x - y)

(24 -j)[[u-j) -5 ]

(x _~7)(’u; -y »’5’)

n is an integer. From the expressions

dn 6n-1 2n* n?+1
Which expression(s) will always give

an even number?

Q’é’k J

da

Which expression(s) will always give
an odd number?

ba -1

Which expression(s) could give an
even or odd number?

A5+ |

Expand and simplify
2x=35)x+1D(x-13)

(le F 1t ~%’i“7)[i'3)
(2" - 32 «6‘)[%—3}

74> ~ 2" -5 4qp -5% 15

AN PR

C is directly proportional to w?

, w3 9w
When G = 9000, W = 10. <% -
(:/(Wj qxf
Find C when W = 5. G = B 21700 )
- C> 1256
V=g
Simplify
) (‘Zt »—i)[;z.,m,) Zi2
2x°+3x-2 . i
2x2—15x +7 (71,~/)[14?) +-7




30th November

Higher 5-a-day

A box contains apples and oranges in the
ratio 2:5. il 159

8 apples and 5 oranges are added to the
box and the ratio of apples to oranges is
now 4:7

2(26+9) bfours)

i ¥ Tb 3 202420

36> bt
How many pieces of fruit were in the box A )
to begin with?
xE: 4
Solve i0p ¥ s —1RY
10+8x i 201 = —10
3x 1 & -»0‘5"
£ Write down the numbers that are in
4 set
12
36 1 ANB b o

Michael bought a hat and a coat.
The hat cost £10.

He sold both items for a total of £90.
Michael made

200% profit on the hat 5
80% profit on the total cost. @

Work out his percentage profit on the cost

of the Coa(,t;-,.?if %l 47 P-’ %l’ o/( /"Ci‘ .
cd 4o bo 1o 5L
It 0 20 10 269
ttd o Jo W 8%

12cm
7
z.” | &
#
1L
L o =
£ =11 rlt
x?s 294 A= 164 F i

Can the square fit inside the circle without
touching the circle?

yfo |

—




